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Are accustomed to be swept every day — 21 H22 7220770 PR

OVERVIEW

1"2 YW 21 explained the reason why monies which were found in 2°9w1 (during
the 0°%37) are Ww¥n is because the streets of 09w were swept daily, therefore all
the coins of 1711 (which were prevalent during the entire year) were swept away
and these found coins during the 0°%31 are awyn.! This presumes that (mere)
sweeping is capable of ridding the streets of whatever litter is to be found. mooIn
finds a contradiction to this presumption and resolves it.
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MooIn asks:
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The %''1 has a difficulty; for the X771 concludes in 73737 27 P9p -
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Concerning a yow which was found in a »12»; that it is not presumed that the

YOw was swept away unless the M2n was specifically searched for o°xw. This
seemingly contradicts this 71w» which maintains that sweeping alone is sufficient to remove all
the previously lost coins.

MooIN answers:
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And the °"1 answered that a 79w which can be X»vn even it is a small as a lentil
(which is [much] smaller than a coin) is indeed not as presumed to be swept

away (if no care was taken to search for it), as it is by money, which is much larger
than a lentil, and is presumed to be removed by sweeping alone (even) without checking.

SUMMARY
Sweeping is sufficient to rid the streets of coins but not of small 2 w.

THINKING IT OVER

Why cannot N800 question be answered as follows; granted that sweeping is no
guarantee that all coins were removed (as we see by the 2°%W), however sufficient
coins are removed to enable the wy»n NMyn to be the 217 during the 0°937!

'See 7ma 11"7 >"wn.

2 The mwn there (R,01) states that if a y7w was found in a "2n, it is X»vn all the MAAY that were in that "Man
retroactively until the previous time the *12» was checked or swept (and found to be clear of 2°x7w). The X713
concludes that sweeping alone is insufficient; it is necessary that the "12n was (also) checked for 2°x7w when it was swept.
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